ArU>Y Y /0—-RUY

- HRIHRW

wAANIY T
HR/HRW

FvIZHNLTH |
U JDiEED
HIFENET,

) ( ) 4 g o
—— R 4 ;
RREAMUET T—VFFIXA—T— _

Oy £ g0 Fs I mRnr—




SE SEAIZIN—=YILBE trzxrys,/0-Kuyy

HR/HRW ,'R{ZFU“J9| BRA ANV T OTAER SHTEIEHRE! (1o IRIBHRWEY) DIBATT,
all 5y FEREE| RILbDAX ~ & (mm) BE
BBAD | BBiEL | (1) (mm) L D E H K (ke)
HR-04 |HRW-04 | 0.4 | M 8X1.25X 50 | 102 9 41 16.5 (17.0) 65 0.4
HR-05 |HRW-05 | 0.45| M10X1.50X 45 | 102 9 41 11.5 (11.0) 65 0.5
HR-10 |HRW-10 | 1.05 | M12X1.75X 60 | 158 15 64 14.0 (15.0) | 105 1.7
HR-19 |HRW-19 | 1.9 | M16X2.00X 65 | 158 15 64 19.0 (20.0) | 105 1.8
HR-21 |HRW-21 2.15 | M20X2.50X 70 | 158 15 64 24.0 (25.0) | 105 1.9
HR-30 [HRW-30 3.0 [ M20X2.50X 80 | 204 19 79 25.0 (25.0) 134 4.2
HR-42 |HRW-42 | 4.2 | M24X3.00X 80 | 204 19 79 25.0 (26.0) | 134 4.2
— HRW-70 7.0 [ M30X3.50X140 | 241 25 100 — (81.0) 160 6.7
—  |HRW-110] 11.0 [ M36X4.00X160 | 286 30 111 — (76.0) | 194 | 15.5
— HRW-125[12.5 [ M42X4.50X180 | 286 30 111 — (95.0) | 220 16.5
—  [HRW-135]13.5 [ M48X5.00X190 | 286 30 111 —— (105.0) | 220 | 16.8
BRA ANV T DEARERFEE DDA DEXFEREE
=60 <60,
B BERE | ALK | 2 E i |l | E ;i @
) |H4qx 1745 | 27K 17 27 27 3~47
BBAD | BB#FL SUEE O 0° 90° 90° | 0~45° [45~60°| 0~45° [45~60°
HR-04 |HRW-04 | 0.4 | M8 0.4 0.8 0.4 0.8 0.56 | 0.4 0.84 | 0.6
HR-05 |HRW-05 | 0.45| M10 0.45 0.9 0.45 0.9 063 | 045 | 0.95| 0.68
HR-10 |HRW-10 [ 1.05| M12 1.05 2.1 1.05 2.1 1.47 | 1.05 | 2.21 1.58
HR-19 |[HRW-19 | 1.9 | Mi6 1.9 3.8 1.9 3.8 266 | 1.9 399 | 2.85
HR-21 |HRW-21 2.15 | M20 2.15 4.3 2.15 4.3 3.01 215 | 452 | 3.23
K HR-30 |HRW-30 | 3.0 | M20 3.0 6.0 3.0 6.0 4.2 3.0 6.3 4.5
HR-42 |HRW-42 | 4.2 | M24 4.2 8.4 4.2 8.4 5.88 | 4.2 8.82 | 6.3
— |HRW-70 | 7.0 | M30 7.0 14.0 7.0 14.0 9.8 7.0 14.7 | 105
—  |HRW-110]11.0 [ M36 | 11.0 22.0 | 11.0 220 | 154 | 11.0 | 23.1 16.5
— |HRW-125[125 | M42 | 125 25.0 | 12.5 25.0 | 175 | 125 | 26.25 | 18.75
— |HRW-135]/13.5 [ M48 | 13.5 27.0 | 13.5 27.0 | 189 | 135 | 28.35 | 20.25
D_Fuya" | BO—RUV I D ER
T EREE| RV X ~ & (mm) BE
* (1) (mm) E | H| A | K| D L B | c | ke
UV dnarisE - 0~90E LR-02 0.2 | M 8X1.25X 40 35 | 11 30 55 | 10 85 6 | 13 0.2
LR-05 0.5 | M10X1.50X 45 35| 16 30 55 | 10 85 6 17 0.3
LR-08 0.8 | M12X1.75X 54 37 | 18 33 57 | 14 98 8 19 0.5
LR-10 1.0 [ M14X2.00X 57 37 | 21 33 57 | 14 98 | 10 | 22 0.5
\ LR-12 1.2 | M16X2.00X 60 37 | 24 33 57 | 14 98 | 10 | 24 0.5
. LR-16 1.6 | M18X2.50X 70 54 | 26 50 82| 17 [ 140 | 12 | 30 1.3
LR-20 2.0 | M20X2.50X 74 54 | 30 50 82| 17 [ 140 | 12 | 30 1.3
LR-30 3.2 | M24X3.00X 80 54 | 36 50 82| 17 [ 140 | 14 | 36 1.4
LR-32 3.2 | M27X3.00X100 65 | 38 60 99 | 23 | 170 | 17 | 41 2.8
LR-40 4.0 | M30X3.50X110 65 | 48 60 99 | 23 [ 170 | 17 | 46 3.1
LR-56 5.6 | M36X4.00X119 65 | 54 60 99 | 23 | 178 | 22 55 3.3
\ LR-64 6.4 | M36X4.00X140 85 | 62 77 | 124 | 27 [ 225 | 22 | 55 5.8
LR-80 8.0 | M42X4.50X150 85 | 72 77 | 124 | 27 | 225 | 24 | 65 6.3
LR-120 | 12.0 | M42X4.50X159 | 104 | 63 95 | 158 | 36 | 256 | 24 | 65 10.8
-~ o LR-160 | 16.0 | M48X5.00X167 | 104 | 72 95 | 158 | 36 | 259 | 27 | 75 11.6
“g* 300 BO—RUYJOEARFERFEEE DDA DRXERREE
52 9 .
~ ElEEa L\E : S =60, =60
ST N R P N L IR - B B E} @
[ A * (t) |[PA4X 174 | 27 175 27 27 3~47%
N JYAE 0° 0° 90° 90° 0~45° |45~60° | 0—~45" | 45~60°
U LR-02 0.2 | M8 0.2 0.4 0.2 0.4 0.28 0.2 0.42 0.3
K LR-05 0.5 | M10 0.5 1.0 0.5 1.0 0.7 0.5 1.05 0.75
. E LR-08 0.8 [ M12 0.8 1.6 0.8 1.6 1.12 0.8 1.68 1.2
= D LR-10 1.0 [M14 1.0 2.0 1.0 2.0 1.4 1.0 2.1 1.5
LR-12 1.2 [ M16 1.2 2.4 1.2 2.4 1.68 1.2 2.52 1.8
LR-16 1.6 | M18 1.6 3.2 1.6 3.2 2.24 1.6 3.36 2.4
L LR-20 2.0 | M20 2.0 4.0 2.0 4.0 2.8 2.0 4.2 3.0
LR-30 3.2 | M24 3.2 6.4 3.2 6.4 4.48 3.2 6.72 4.8
LR-32 3.2 | M27 3.2 6.4 3.2 6.4 4.48 3.2 6.72 4.8
() LR-40 4.0 [ M30 4.0 8.0 4.0 8.0 5.6 4.0 8.4 6.0
LR-56 5.6 | M36 5.6 11.2 5.6 11.2 7.84 5.6 11.76 8.4
1 LR-64 6.4 | M36 6.4 12.8 6.4 12.8 8.96 6.4 13.44 9.6
H LR-80 8.0 | M42 8.0 16.0 8.0 16.0 11.2 8.0 16.8 12.0
4 LR-120 | 12.0 [ M42 12.0 24.0 12.0 24.0 16.8 12.0 | 25.2 18.0
LR-160 | 16.0 | M48 16.0 32.0 16.0 32.0 | 22.4 16.0 | 33.6 24.0
SHREHRHNIEF - FEFA—H—
5"WYid - X Y3 % | BBOSHEEICELTEEANHICSHS
o o A y M i 9 .
0y 084S F 60 #3000 1224t A 15| sasmssaniors. ELCsEOCEE,
URL:http://www.elephant.co.jp
@ AT LTENEICEHETERENFIE
WA - T35 T589-8502 AFRikILiEE2T B180&
TEL (072) 365-7771 FAX (072) 367-2053
WAL 1% 2 ¥ Fr TEL(011)824-2821 FAX(011)824-3115
Wl & 2 % TEL(022)284-5610 FAX(022) 284-5603
W AR S ¥ TEL(048)527-3086 FAX (048)527-3058
M3 = ¥ TEL(03)3633-0176 FAX(03)3633-1583
B 2EEE%¥r TEL(052)916-1801 FAX(052) 915-6720
B AR E ¥/ TEL(072)365-7771 FAX(072)367-2053
B E S %8 TEL(082)292-6775 FAX(082)291-9309
WERE %M TEL(092)595-8880 FAX(092)595-8882

TOZhIVHEEE

B o [HEHRICERI] 0120-911-232
FAX &8 0120-911-832 EBEFX—ILTOBRLEE e-call@elephant.co.jp

[EEMTER]] 0120-984-204 (a9~ 128 13~16845%)

HMAARROTERRRD DT ECKERTEIENHIET,

2014.10

. 3,000 (SY)



